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Q. 1)  
a) A private general insurance company wants to grow inorganically by acquiring 

some other general insurance company. As an Actuary, you have been requested 
to give a report on the advantages /disadvantages of taking over another general 
insurance company. State the points for your report.  (10)

  
b) Describe how you can arrive at a purchase price for such an acquisition?   (20)

  
c) State other factors that should be considered when deciding upon the price to be 

offered? (5)
  [35]

Q. 2) A private general insurer writes just employer’s liability and house hold 
insurance business. The CEO has requested you to review the investment strategy 
and give a report on the principles of suitable investment policy for this company 
and your choice of asset allocations giving reasons. The balance sheet and the 
revenue account is given below: 
Balance Sheet 

 
Revenue Accounts 
 House hold Employer’s 

Liability 
Outstanding and 
IBNR b/f 

40 270 

UPR b/f 175 75 
Premiums 500 150 
Claims paid 350 100 
Expenses 50 15 
outstanding and 
IBNR c/f 

50 300 

UPR c/f 250 75 
Underwriting result 15 5 

The company has total assets of Rs1200 crores. Ignore reinsurance. Solvency 
margin may be assumed at 20% of the premiums or 30% of incurred claims, 
whichever is higher. 

Reserves Household 
Rs. in crores 

Employers Liability 
Rs. in crores 

Out standing claims & 
IBNR 

50 300 
 

UPR 250  75  

a) Draft your report.  (40)
  

b) An Actuarial student who has joined you recently suggests that in view of the 
positive cash flow, the entire investments should be in equities and properties, as 
there may not be any need to realise assets to meet liabilities. Discuss the points 
that you would make to him.        

  (10)
  [50]
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Q. 3) What types of accumulation of risk can arise in the following class of business: 
 i) Employer’s liability 

ii) Domestic Household business 
iii) Which are the functions affected by the accumulation of risks and briefly 
      describe the effects. 

  [15]
 

******************** 


